do
d ECE?orm
Q

1
d2 d
=
2

=
o
N

10

[EEY

Ratio to ATLAS

0.5

13000 GeV pp

| 1T 17 7 17T | T Tt I | ﬂ
1 <
- — O
ECF3 (ATLAS jet substructure) o
= ==
- m  ATLAS Ho
~ —— Pythia 8.308 default s
|5
— Hm
— ] 5
~ =
B |
B 1z
o™
- _ =
= = ™M
— o
— 4o
™
B 1 <
- 12
>
= =L
— c
= 4G
B -1 <
: ks
Q
— — 0
= =he
— 4a
[ e
| P R R R | P R R R | P R R R , , , o | =
:l T T T T | T T T T | |||||||| |:
— =2
K//‘/ .
_ —0.5
I T T T I R T T I N T T O T SR T T l
0 0.01 0.02 0.03 0.04

ECF3'orm



	Contents
	Page 1


